
SAP ABAP table T8JOHS_POST {Screen Posting Information for each overhead}

T8JOHS_POST

EXPENSE_ACCT [CHAR (10)]

OFFSET_ACCT [CHAR (10)]

ADJUSTMENT_ACCT [CHAR (10)]

EXPENSE_RI [CHAR (2)]

OFFSET_RI [CHAR (2)]

ADJUSTMENT_RI [CHAR (2)]

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 T8JOHS_POST-ADJUSTMENT_ACCT = SKA1-SAKNR 

0..N0..N  T8JOHS_POST-EXPENSE_ACCT = SKA1-SAKNR 
0..N

0..N  T8JOHS_POST-OFFSET_ACCT = SKA1-SAKNR 0..N

0..N

T8JJ

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RECID [CHAR (2)]

 T8JOHS_POST-ADJUSTMENT_RI = T8JJ-RECID 

0..N

1

 T8JOHS_POST-EXPENSE_RI = T8JJ-RECID 

0..N

1

 T8JOHS_POST-OFFSET_RI = T8JJ-RECID 0..N
1


